AN ROINN CIDEACHAIS

(Department of Fducation),

INTERMEDIATE CERTIFICATE EXAMINATION, 1956.

ELEMENTARY MATHEMATICS (Arithmetie).
FOR GIRLS ONLY.

PUESDAY, 5th JUNE -—Morying, 10010 12,

All questions to be answered.

All questions carry equal marks.

LY

1. Find the cost of 5 tons 12 ewt. 2 grs. of coal at £8 16s. per ton.

2. Find the cost «

() 3% 1bs. of sugar al 7d. per'lb. ;

' (b) 6 epgs at 5s. 9d. per dozen ;

(¢) 11 doz. buttons at 16s. per gross;

(d) 14 fect of ribbon at Is. 9d. per yard ;
(¢) 15.5q. yds, of linoleum at 10d. per sq. fi.

Find also the total cost of these items.

3. Find the simple interest on tilil‘ for four years at 519, per annum,
What sum of money inyested at 519, per annum, simple inferest,
would amount to £968 in four years ?

4. (a) Simplify

(b) Find the square root of 457-96,

H.. (@) A searf wliich cost 15 shillings was sold for £1 1s. Find the
m-ywm.! 5. pro fit.

(By A ]hlj" of §hoes, bought for £2 4, was sold at a profit of
1219/, " Find the selling price.
(¢) When & furrier sold & 1‘-'1' coab for 286 guineas, he made a
profit of 309,, How much did he pay for the coat ?
The internal dimensions of an open cylindrical tank
follows : Ler '_‘_'\ feet eight . eot, 11 1 eubie foot- .l'i]l

correct to 1|r“ neares

firicl the capacity of the tank
Find also the mbernal sueliv
to ‘one decinal ]!1;I.*.'=_', 2

i tank in squar feet corree




